FSek L

A3 -6 o 17 goor 20 22 3
-1 1 L3 \ ~— 3 -6 -1 ) 1
H - -3 -216 h ¢ -2 -2 16
1 SR IS R W I RyaRy 12 2 B}t
i © 0 5 (plio|] — o o 5 {10
L‘PH"R'J.
O o 510 | o © 0 olo

5'131' IU'J\Li: 10 —"':-> '3(.3?-2“21;‘

_%l+lx;~t—)\‘(3f?>mq =l = x

b+ 2o, + 2%y 4 Ay
= —\ 1—2'7(14 1(2-2'11.1)-\-3'1\.‘

Tz D Qu, -y
3+25-h
SG'C\A.L:‘Mc—cf:'-‘{ ‘lth :S,I:GR_}
T
0] .otk elk
or sw’twl'\'mwl"a { (2\{5 :) t+ k -9 g
L 0 \

.

% solalimnk = (303) + sFm{(

) (3)

g -V



E\ C""”L’YWWEI' %—m He Lt aMJWM\Lﬁ( mahix v M

AR SN O Ry IS T | =y 1)
0 0 T 10110 o
(.‘;)p\a_ 0 O | 2 2L
O O oo o o) o 0 o o | o
Q/P\l‘i'Ri V' -2 0 l 3)" QLI :.3.;112_%‘_'
e ____7
O 0 | ) 9 A3 o=z “llq
0 © O o o |

MAMOL!'MM L v w‘&A.L }(JM""‘D

G Ex2.1.4
| '2 bl "le—Qq 1 -2 b' A
Lo-dh, | o “2b,b
4 0 TR Ry R e
b 6 0 G\)H’b?}

A}:\'g_ n amgislnk &> 'lbl"“bg_zo arnd. Gbl+b3=°
<='-> bl=lb\ MA. 63: -61),
Fx2.2.6

| O "l b, lR\-&-?s: | 1 0 -\ b1 —‘ . | D "\ B 1 —1
23 L, | DR g R W A AN Qﬁ'R) 0 3 -3 | YThyeby

N N . —~—r L
3 3 0 b; -lRl"'RH 0 -3 3 31‘:.%\)} o © o ‘b\*'bl*' )
Lo by 10 o O ~1bishy O © © -15,-49* |

A‘Z‘ :E l}.\CunhY)&wt => "E1+L2+l}3=° ok ‘1L|+b1 =0

T R T AN PR

Him A-%=[‘o 2] - A.C



